1. Read the article. Choose the correct answers.

1. ....... runs in the wife carrying sport. 3. Wife carrying is NOT popularin.......... :
a) The male competitor a) Finland.
b) The female competitor b) Australia.
¢) Both male and female competitors c) India.

2. Wife carrying is difficult because ........ : 4. A chess boxing match lasts for ......... .
a) there's a female teammate a) thirty-three minutes
b) it's a sport from Finland b) six minutes

¢) you run 253 metres with someone on your back c) three minutes



